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' ' | Section A ‘ ‘

Answer all the questions.
Each question carries 1 weightage.

1. Why is accounting called the la.nguégé of business ?

2. What are accounting concepts and conventions ? Is there any difference hetween them ? '

3. What is the s1gmﬁcance of dual aspeet concept ? .

4. What is the posatmn in India regardmg the formulatlon and enforcement of accounting
standards ? . _ , R

5. How and why, closing entries are madé ? |

6. Bring out the relationship between a journal and a ledger.
'. ' . 6x1=6 weightage)
Section B '

Answer any four questions.
Each questwn carries 8 weightage.
7. Explain the mechanism of balancing an account
8. Narrate the rules of deblt and credit. _ ‘ ‘ _
9, What is meant by ratio analysis ? Explain its significance in the analysis and interpretation of
- financial statements. . : :
10. Distinguish between schedule of changes in working capital and funds flow statement. |
11. Explain the significance of fu’nds flow analysis and cash flow ana.lyEis. _ | ‘
12, Justify the need for analysis and interpretation of financial stai;._ements. o o | ;o
| " | ' (4 x 3 = 12 weightage)
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Section C

Ansiver any three questions.
Each question carries 4 weightage.

Write down the differencés between sinigle account system and double account system.

14. r}.‘he following tra.nsactioné relate to a business concern for the month of December 2016. J ournalize |

" them, post into ledger accounts, balance and prepare the trial balance :

. March 1 . Started business with a_ capital of Rs. 9,000

- March 2 - Purchased furniture for Rs. 300
March 3 - Purchased goods for Rs. 6,000
March 11— Receive& ordér for Half-of the goods from ‘C"
March 15 - — Delivered goods, ‘C’ .invoice'd,Rs. 4,000

. March 17— Received order for the remaining half of the goods
March 21— Delivered goods, cash received Rs. 3,800 o
March 31 - Paid_ wages of Rs 3I00 |

15.

16.

17.

Shyam and company has the following informatibn for the year ending 315t March 2012. Sales

'Rs. 5,000, Depreciation Rs. 450, Other operating expenses Rs. 4,100. You are required to : Estimate

the amount of funds generated during the year. If the amount of depreciation increasés to Rs. 900,
what would be its effect on funds generated during the year ? Under what circumstances can the
funds from operation be zero ? ' '
Explain the following : '
(A) Assets. - ' _ . | s
(B) Lisbilities. : | B
) Tictitious Assets.
(D) Income Received in Advance. .
(E) Investménts.' »

‘How are ratios broadly classified ? Explain how ratios are calculated under each classification.

(3 x 4 = 12 weightage)-
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Section D -
. Compulsory question..
‘ The question carries 6 weightage.
18. The foliowing are the financial statements of Yes Limited for the year 2016 :
Balance sheet as at 31-12-2016 )
Equity share capital ... 1,00,000 Fixed Assets .. 1,50,000
General Reserve .. 90,000  Stock | 42,500
‘Profitand lossbalance ... 7,500 . Debters .. 19,000
Sundry creditors | . 85,000 Cash o . 61,000
- 6% debentures .. 30,000 ' |
| Proposed dividends .. 10,000 _
' | 2,72,500 o . 2,72,500
Trading and Profit and Loss Aécount for the year ended 31-12-2016 _
| 'I‘b cost of goods sold - 180,000  Bysales N 3;00,000
To Gross profit G/D v 1,20,000 | ' |
To Expenses S 1,00,000 By Grossprofit B/D ... . 1,20,000
7o Net Profit’ . 20,000 ' -

~ You are required to compute the fo]_lowing :
(i) "Current Ratio.
(i1) Acid Test Ratio.
(iii) Gross Profit Ratio.
- (iv) - Debtors Turnover Ratio.
(v) Fixed Assets to Net Tangible Worth
{vi) Turnover to Fixed Assets.

(1 % 6 = 6 weightage)



